KV

KNAPE & VOGT.

(Keyboard Installation Instructions

Contents: Tools Required:
(1) Adjustable Keyboard Mechanism Drill
(1) 18" or 21" Track .125 Drill Bit
(1) Platform (may be shipped in separate packaging) Power Drill
(1) Track Mounting Kit Includes: Phillips Screw Driver
(6) #10 x 3/4" mounting screws Wrench (for AMS/AMT Mouse Platforms)
(1) Track Cover/Stop Allen Wrench (for AMN Mouse Platform)

COMFORT PLUS PLATFORM

Hardware Includes:

PP Models

(4) #10-24 x 3/4" Pan Head Screw
(2) #10-24 Keps Nuts

or '

PF Models

(4) #10-1/2" Pan Head Screw

PP Platform
3 1.
PHENOLIC PLATFORMS ,‘/‘zf\ e
Hardware Includes: r s .
(4) #10-24 x 112" Flat Head Screw Ssg © D
(4) #10-24 Keps Nuts T
j -
PLN Platform FC Faitom
CLAMPING PLATFORMS

Hardware Includes:
(4) #10-24 x 5/16" Pan Head Screw

(4) #10-24 Keps Nuts
PA Platform PA Platform + Mouse
Slide Out Mouse
SLIDE OUT
KEY BOARD PLATFORMS

Hardware Includes:
(6) #10 x 1/2" Pan Head Screw

PS Platform BBP Platform




Adjustable Keyboard Mechanism Installation Instructions

Front

INSTALL TRACK A—

&
1

* PLACE TRACK

* MARK HOLES W/ PENCIL

* PREDRILL HOLES

* MOUNT TRACK USING (4) #10 X 3/4"
MOUNTING SCREWS

NOTE: DO NOT INSTALL FRONT

STOP UNTIL MECHANISM

INSTALLATION IS COMPLETE

53

ful

1

ﬂ,i., fzi‘
{

60

1
1
| St

1

L

S —

INSTALL KEYBOARD PLATFORM TO Back

! MECHANISM

REFER TO REFERENCE DIAGRAM ON REVERSE SIDE FOR
PROPER MOUNTING HARDWARE FOR OF YOUR
PLATFORM

INSTALL MOUSE TRAY TO KEYBOARD
PLATFORM (OPTIONAL)

‘. REFER TO DIAGRAM FOR PROPER
' INSTALLATION OF YOUR PLATFORM

Keynetix? Series

AKP 85
Sit-to-Stand

Mounting
Tray Models Hardware
Comfort Plus (1) #10-24 x 1/2" Pan Head Screw (3a)

Plalforms:MP Series {optional)

Universal Platform:

AMS/AMT (1) 916" Nut {3b)
(1) Allen Screw
AMN Series (1) Allen screw

NOTE: TENSION ON SWIVEL TILT MODELS
CAN BE FIELD ADJUSTED WITH EITHER A
PHILIPS HEAD SCREW DRIVER OR ALLEN
WRENCH

INSTALL UNIT INTO TRACK

/ 1 < SLIDE MECHANISM INTO THE TRACK

.« SWIVEL UNIT OUT OF THE WAY AND
INSTALLFRONT TRACK COVER STOP WITH
REMAINING (2) #10 X 3/4" SCREWS

PF Series

P/N 310086-0207




